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Use the table and information below to answer questions 1-2.

Amy and Heather are two college roommates who both prefer a clean common space in their dorm room, but neither enjoys cleaning. The roommates must each make a decision to either clean or not clean the dorm room's common space. The payoff table for this situation is provided below, where the higher a player’s payoff number, the better off that player is. The payoffs in each cell are shown as (payoff for Amy, payoff for Heather).

	
	
	Heather

	
	
	Clean
	Don’t Clean

	Amy
	Clean
	(75, 75)
	(15, 100)

	
	Don’t Clean
	(100, 15)
	(20, 20)


1. If Heather chooses to clean, then Amy will 

a. clean and Amy’s payoff will be 75.


b. not clean and Amy’s payoff will be 100.


c. clean and Amy’s payoff will be 15.


d. not clean and Amy’s payoff will be 20.


e. clean and Amy’s payoff will be 100.

2. What is the Nash Equilibrium in this dorm room cleaning game?

a. Amy: Clean; Heather: Clean


b. Amy: Don't Clean; Heather: Clean


c. Amy: Clean; Heather: Don't Clean


d. Amy: Don't Clean; Heather: Don't Clean


e. Amy: Clean her own side of the room only; Heather: Clean her own side of the room only

3. In which of the following situations does overt collusion exist?

a. Smaller firms in an industry have an unspoken agreement to charge the same price as the largest firm.

b. Firms in an industry agree openly on price, output, and other decisions aimed at achieving monopoly profits.

c. Competition among a large number of small firms generates similar, but slightly different, prices.


d. Competition among a large number of small firms generates a stable market price.


e. A few large firms aggressively advertise the benefits of their products, attempting to take customers away from rival firms.

4. Suppose that several small colleges in Indiana, have over time, learned to charge very similar tuition rates to their students.  This is an example of ______.  However the colleges have each engaged in costly construction of high-tech science labs, modern dormitories and exotic foreign study opportunities for students.  These endeavors are example of ______.

a. tacit collusion; Bertrand competition


b. price leadership; non-price competition


c. Cournot competition; tacit collusion


d. non-price competition; overt collusion


e. tacit collusion; non-price competition

5. Which of the following is most likely to be observed when firms engage mainly in non-price competition?

a. actively encouraging the sale of generic, as opposed to brand-name, products.


b. a 5% discount if customers pay with cash instead of credit.


c. discounts offered through coupons.


d. low interest rates for financing the purchase of big-ticket items.


e. advertising and product differentiation.

	1.
An example of monopolistic competition is the ________ market.

a.
electricity


b.
soft-drink


c.
automobile


d.
breakfast cereal


e.
restaurant
2.
Which of the following is NOT a characteristic of monopolistic competition?

a.
product differentiation


b.
lack of barriers to entry and exit in the long run


c.
many competing producers


d.
tacit collusion


e.
advertising


	3.
Suppose a monopolistically competitive firm is making a profit, but it can increase its profits by increasing output. Then it must be the case that at the current level of output:

a.
marginal revenue is greater than marginal cost.
b.
price is less than marginal cost.


c.
price is less than average total cost.


d.
marginal revenue is less than marginal cost.


e.
price is equal to marginal revenue and marginal cost.

5.
Suppose a monopolistically competitive firm is in long-run equilibrium. Then:

a.
price equals average total cost.


b.
price equals marginal cost.


c.
marginal revenue equals price.


d.
price is greater than average total cost.


e.
marginal cost equals average total cost.



	Use the figures below to answer question 4.
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4.
Which of the panels in the figure shows a monopolistic competitor in long-run equilibrium?

a.
Panel a


b.
Panel b


c.
Panel c


d.
Panels a, b, and c.


e.
None of the panels show a monopolistic competitor producing in long-run equilibrium.

6.
Toby operates a small deli downtown. The deli industry is monopolistically competitive. If some delis leave the industry, Toby's ________ curve will shift ________.

a.
marginal cost; left


b.
marginal cost; right


c.
demand; left


d.
demand; right


e.
average total cost curve; downward

Use the figures below to answer questions 7-8. The figure shows the demand, marginal revenue, marginal cost, and average total cost curves for Pat's Pizza Parlor, a monopolistic competitor in the food-to-go industry.
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Use the figure below to answer questions 12-13.
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12.
In the figure, firms, in the long run, will:

a.
enter this market until all firms are earning a normal profit.


b.
exit this market until all remaining firms are earning a normal profit.


c.
enter this market, leading to excess profit for all the firms.

d.
exit this market, leading to excess profit for all the remaining firms.


e.
enter this market, leading to losses for all the firms.

13.
The figure illustrates a firm in the ____; in the _____, the demand and marginal revenue curves will shift _____.

a.
short run; long run; right


b.
long run; short run; left


c.
short run; long run; left


d.
long run; short run; right


e.
short run; short run; right

Use the figure below to answer questions 14-15.
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14.
Suppose that an innovation reduces a firm's fixed costs and reduces cost from ATC to ATC'. Before the innovation reduced the cost, the firm's maximum economic profit was:

a.
$0.


b.
$30.


c.
$750.


d.
$4,500.


e.
$1,500.

15.
Suppose that an innovation reduces a firm's fixed costs and reduces cost from ATC to ATC'. After the innovation reduced the cost, the firm's maximum economic profit is:

a.
$0.


b.
$30.


c.
$1,500.


d.
$3,000.


e.
$750.
	7. The optimal level of output for Pat's Pizza Parlor is ________ and the profit-maximizing price is ________.

a. 350; $3.50


b. 350; $7.00


c. 590; $5.60


d. 500; $5.50


e. 1,000; $0.50

8. In the long run, the demand curve facing Pat's Pizza Parlor will shift ________ as its competitors ________ the market.

a. rightward; enter


b. rightward; leave


c. leftward; enter


d. leftward; leave


e. upward; enter

9. Monopolistically competitive firms have zero economic profits in the long run because of:

a. excess capacity.


b. price wars among firms.


c. easy entry and exit.


d. excessive advertising.


e. product differentiation.

10. A firm in monopolistic competition will maximize short-run profits by producing the level of output at which:

a. P = MC.


b. MR = MC.


c. P = MR.


d. P = ATC.


e. MR = ATC.

11. Product differentiation under monopolistic competition means that each firm:

a. charges slightly different prices.


b. has a pure monopoly.


c. maximizes profit where MC = P.


d. faces a horizontal demand curve.

e. earns a normal profit in the short run
1. The market structure of the local gas station industry is monopolistic competition. Suppose that currently each gas station incurs a loss. Draw a diagram for a typical gas station to show this short-run situation. Then, in a separate diagram, show what will happen to the typical gas station in the long run. Explain your reasoning.
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2. The restaurant business in town is a monopolistically competitive industry in long-run equilibrium. One restaurant owner asks for your advice. She tells you that, each night, not all tables in her restaurant are full. She also tells you that if she lowered the prices on her menu, she would attract more customers and that doing so would lower her average total cost. Should she lower her prices? Draw a diagram showing the demand curve, marginal revenue curve, marginal cost curve, and average total cost curve for this restaurant to explain your advice. Show in your diagram what would happen to the restaurant owner’s profit if she were to lower the price so that she sells the minimum-cost output.
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